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SLR tables: ACTION GOTO
State + x v $ E I
0 shift(3) shifi(4) 1 2
1 shift(5) accept
2 reduce(E — ) reduce(E — 1)
3 reduce(l” — x) reduce(l” — x)
4 reduce(l" — v) reduce(l" — v)
5 shift(3) shaft(4) 6
4] reduce(E — E+ ) reduce(E—E+ 1)
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STACK LA ACTION
>0 X shift 3
>0 3 $ reduce V - x (pop 1)
> 0 goto 2
>0 2 $ reduce E - V (pop 1)
> 0 goto 1
>0 1 $ accept
"X+y 1)

STACK LA ACTION
> 0 X shift 3
>0 3 + reduce V - x (pop 1)
> 0 goto 2
>0 2 + reduce E - V (pop 1)
> 0 goto 1
>01 + shift 5
>0 15 y shift 4
>015 $ reduce V -y (pop 1)
>015 goto 6
>015 $ reduce E - E + V (pop 3)
>0 goto 1
>0 1 $ accept

"X+y+y n
STACK LA ACTION
>0 X shift 3
>0 3 + reduce V - x (pop 1)
> 0 goto 2
>0 2 + reduce E - V (pop 1)
>0 goto 1
>0 1 + shift 5
>015 y shift 4
>0 15 + reduce V -y (pop 1)
>0 15 goto 6
>0 15 + reduce E - E + V (pop 3)
> 0 goto 1
>0 1 + shift 5
>015 y shift 4
>0 15 $ reduce V -y (pop 1)
>0 15 goto 6
>015 $ reduce E - E + V (pop 3)
> 0 goto 1
> 01 $ accept



